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7. A juice-making company adds raw materials to their machine. They add flavouring
powder and then remove any waste mixture. Work out the missing amounts going into
and out of the machine.

‘ oomO ‘ oOomO
6,384kg [mmmm) - kg
3,608kg [mmmm) 2,089kg
5,059kg [mmm) - 6,266kg

ﬁ Flavouring Waste
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9. The partially completed chart below should show the amount of water Lloyd drank
on each day from Monday to Friday. In total, he drank 9,465ml of water.

His sister Lara says, Millilitres of Water Drunk each Day
2,356
You could have 1,957
drunk 1,679ml on
Tuesday,
Wednesday and
Thursday.
Mon Tue Wed Thu Fri

Is Lara correct? Explain why.
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8. Rebecca and Chloe are going on a 5-day walking challenge. The chart below
shows the time they spent travelling and the number of metres they walked.

Work out the missing values. What is the difference between the lowest and highest
amounts for both time and distance?

Day Time (minutes) Distance (m)
Monday 564 1,458
Tuesday 712
Wednesday 2,008
Thursday 498 968
Friday 248 1,854

2,669 7.975

ﬁ Total
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Greater Depth

7. 6,750kg; 2,098kg of waste; 2,163kg of flavouring

8. Wednesday = 647 minutes; Tuesday = 1,687 metres

Differences: Time = 464 minutes; Distance = 1,040 metres

9. Lara is not correct. If Lloyd had drunk 1,679ml of water on Tuesday, Wednesday and
Thursday, he would only have drunk 9,350ml in total.




